





A to J are member of a three generation family in which there are three married couples such that there is
only one couple in each generation. At most three persons are there in the third generation. They are sitting
in a row. All males are facing north and all female are facing south. Consecutively alphabetically named
person do not sit next to each other. Persons sitting at an end are facing opposite direction. If a person has a
married daughter, it means the person’s daughter spouse is present in the family. E is married to F, who is the
grandson of A, who has a married daughter. E’'s mother in law sits immediate right of F but does not sit at an
end. F is the only child. G is married to |, who does not have child. B sits at an end. C sits 2" to the right of B.
Two person sit between E and D’s father. D, who faces north sits 2"9 to the right of his father. D is neither
married nor has a sibling. D is not the nephew of A. | sits 2"d to the right of H, who faces north. The persons
sitting next to A face same direction. A and G face opposite direction. A has a sister. B is not married. H, who
has a son is the brother in law of B. G does not have sibling.






Q1. Howis D relatedto F ? Q4. How many person faces north ?

A. Grandfather g' 2
B. Nephew C' 7
C. Fatherinlaw D 4
D. Son E. None of these
E. Can’t be determined
Q5. Who sits 2"d to the left of J’'s grand-daughter ?
Q2. How is H related to E’s mother in law ? g" E
A. Nephew c H
B. Brother D. C
C. Husband E. None of these
D. Father
E. Can’t be determined.

3. How many persons sit to the right of A’s sister ?
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P to W were born in eight different months. Four of these are months are January, March, April
and September. Each of them like different colour i.e. red, blue, yellow, black, purple, pink,
green and white. No person was born in a month having least number of days. S was born just
after the person who likes yellow. P does not like yellow. The person who likes white was born
just after the person who likes blue but not in September. Q likes black. W, who likes purple
was born in a month having 30 days but not after September. Two persons were born in two
successive month having 31 days. Six persons were born between the person who likes green
and pink. The person who likes pink was born in a month having 31 days but not in January. P
was born just after R, who was born after W. T was born just after V, who was born in a month
having 30 days. T does not like pink.






Q6. W was born _ months _ the person who likes red ? Q9. How an persons born between Q and S ?

A. one, before A. 4

B. Five, before B. 3

C. Three, before C. 5

D. Four, after D. 2

E. None of these E. None of these
Q7. The person who likes blue was bornin _? 2.1(:";"@5 which colour ?
A. November B. Blue

B. August C. Pink

C. May D. White

D. July E. None of these
E. None of these

Q8. Who was born after U ?

A. 4

B. 5

C. 6

D. 7

E. None of these
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First fifteen numbers are written from top to bottom. All distinct letters of the word ‘AUTOMATION’ are
written in alphabetic order against each alternate number starting from 2. Z and X were written against
composite numbers but Z is written above X. H is written above I. L and W were written such that M is placed
exactly between them. G is written below T. Q is written against 5 and K is also written.



Q11. How many letters are written between Hand Z ?

W o

A
B.
C.
D
E. None of these

Q12. How many letters are between Nand T ?

o U1 W N

A
B.
C.
D
E.

None of these
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Q13. Conclusions:

No red is green

Some green are not pink
Some cherry are red

Statements:

A. Some cherry are red. Some black are pink. Some cherry are green. Some black are green.
B. All cherry are green. All black are pink. Some black are green. All cherry are red.

C. Some black are green. No black is pink. All cherry are green. Some cherry are red.

D. No black is pink. Only cherry are red. Some black are green. Some cherry are green.

E. None of these






Q14. Conclusions:
Some 7 arenot 1
Some 9 are 2
Some 8 are 2

Statements:

A.Some2are7.Nolis2. All8arel. Some7 are9
B.Some 8are 1. No1lis2.Some 2 are 7. All 7 are 9.
C.Some 8 are 1. Some 1are 2. Some 2 are 7. Some 7 are 9.
D.Some 7 are 9. Some 8 are 1. All 1 are 2. Some 2 are 7

E. None of these
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Only | is sufficient

Both | and Ill are required
Both Il or lll are required
All are required

None is sufficient



Q15. A to G were born in seven different months i.e. March, April, May, June, July, August and September of the
same year. Who was born two persons after D ?

I. Three persons were born between E and B. D was born in a month having less than 31 days. F was born two
persons before A, who was born just before E.

Il. F was born three persons before E. One person was born between F and G. B was born four persons before E,
who was born in a month having 31 days.

lll. No person was born between A and D, who was born after G. A was born two persons before C, who was born
in a month having less than 31 days.

A. Only lis sufficient

B. Bothland Il are required
C. Bothll orlll are required
D. All are required

E. None of these
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Only | is sufficient

Only Il is sufficient
Either | or Il is sufficient
. Both are required

None is sufficient
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Q16. In which direction O is with respect to U ?

I. Wis 3 min north of V, which is 7 m in east of U. O is 9 m in west of Z, which is 7 m in north of
Y. Wis 4 min west of Y.

. Yisinnortheastof V.Zis7minnorthof Y.Ois5minwestofZ.Sis7minwestof T.U is 4
m in north of T. V is in east of U.

. Only Il is sufficient

Only Il is sufficient
Either | or Il is sufficient
. Both are required

None is sufficient
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Input: 746 3257 864 759 643 489
Step1: 4003 2393 1623 116 1132
Step 2: 7 17 12 8 7
Step3: 343 4913 144 64 343
Step4: 36 108 16 24 36
Step 5: 18 54 8 12 18

Input: 524 1033 642 937 821 267



Q17. How many numbers are repeated in step 5?
A. 0 B.1 C.2 D.3 €E.A4

Q18. What is the difference between the highest and lowest number in step 4?
A. 72 B.92 C.82 D.84 E.None ofthese

Q19. What is the sum of the digits of the highest number in step 3?
A. 15 B.16 C.17 D.18 E. None of these
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There are a number of rows given and to find the resultant of a row, you need to perform appropriate steps given
below.

1 - If a perfect square follows an even number then the resultant will be the addition of the perfect square and
the even number.

2 — If an odd number follows a prime number then the resultant will be the multiplication of the odd and prime
number.

3 — If a prime number follows a perfect square then the resultant will be the difference of the prime and the
perfect square.

4 - If an odd number follows an even number then the resultant is the addition of squares of both the odd and
the even numbers.

5 — If an even number follows an odd number then the resultant is the difference of the odd and the even
numbers.

Note: If multiple steps are satisfied, then the step that comes first in the above rules will get higher priority.
If none of the condition follows just add the two numbers to get the resultant.

Q20. What will be the resultant of the second row, if W is the resultant of the first row ?
6 5 2
1 W7
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There are a number of rows given and to find the resultant of a row, you need to perform appropriate steps given
below.

1 - If a perfect square follows an even number then the resultant will be the addition of the perfect square and
the even number.

2 — If an odd number follows a prime number then the resultant will be the multiplication of the odd and prime
number.

3 — If a prime number follows a perfect square then the resultant will be the difference of the prime and the
perfect square.

4 - If an odd number follows an even number then the resultant is the addition of squares of both the odd and
the even numbers.

5 — If an even number follows an odd number then the resultant is the difference of the odd and the even
numbers.

Note: If multiple steps are satisfied, then the step that comes first in the above rules will get higher priority.
If none of the condition follows just add the two numbers to get the resultant.

Q21. What is the addition of the resultant of the second and third row of the given number matrix ?
S is the resultant of first row



A to G are member of a three generation family in which there are three married couples and at least one
married couple has no child. Each of them like different colour i.e. brown, yellow, red, blue, green, pink and
white, not necessarily in the same order. B is the only son of A, who likes yellow colour. The person who likes
pink colour is married to B and is the mother of the person who likes red colour. C is the mother of F, who
neither likes blue nor brown colour. F’s brother is the father of E. The gender of F and E is same. The person
who likes white colour is the mother in law of D, who is the mother of the person who likes red colour. G is
married to the person who likes green colour but does not like red colour.
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Q22. Who likes Red colour ?

Q23. Howis Arelatedto G ?

Q24. How is the one who likes white related to C ?
Q25. How D related to E ?
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